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Question One (16 Marks):

For a diameter 60 mm and fit H10/e8 determine the following:
1- Type of tolerancing system. 2- Type of the fit.
3- Tolerance on the hole. 4- Tolerance on the shaft.
5- Upper & lower limits on hole. ~ 6- Upper & lower limits on shaft.

Size H7 | H8 | H9 [HI0 | H11 J d9 | e8 f7 | g6 | hé
From 10 + 18 +27 +43 + 70 + 110 |-50 -32 - 16 -6 | 0
Upto 18 0 0 o | o o Lo l-»» 1.3 |-17 |l-n |
From 18 +21 +33 + 52 +84 |+130 J-65 =40 =20 - 7 0
Upio 30 0 0 0 o [-n7 |-m3 |-41 .20 |-13
From30 |[+25 [+39 |+62 +160 |-80 [-50 [-25 |- 9 0
Uptos0 | 0 0 0 | 0 0 [-142 |-89 |-50 |-25 |-16
From 50 | +30 |+46 |+76 +190 |-100 |-60 |-30 |-10 0
Up 1o 80 0 0 0 { o J-174 |-105 |-60 |-290 |-19
From80 |+35 |+54 |+87 |+140 [+220 |-120 |-72 | -36 |-12 {
Upto120 | © 0 o | o | o J-207 [-126 {-T1 |-34 |-2

__'_“J

Question Two (64 Marks):

The drawing shows the details of SCREW JACK. Draw with scale 1:1 sectional
front view all parts assembled showing the position numbers and the main
dimensions. A list for the shown items is given below:

Pos. No. |

1 | Spindle
2 |Base
3 Set Screw
4 Bush




SCREW JACK







